IMEBHAMOSEFET - 235 -
-] r—i
- ® ® ® Rrrew R_= B & w = by # 8 R
HH THKMEIE OB R BEE BX M OF O£ #
@®3SK142 BT | Vos(V) 15[ lToss(ma) 0. 50 5.00f 13.00] Vps=10V, Vo15=0, Voos=4V | 1pssiX43 ««- P: 6
R 1 UBF ¥ = —F SRR UFF | Vos(V)# 8| 1Yesi(mS)| 12.00| 20.00 28.00| Ip=10mA, Voos=4V, 1kHz, % | 0.5~4mA, Q:3~
TR HEM SRR Ip(m4) 30f Ciss(pF)| 1.40 1.90|  2.40| Vois=Voos=-5V, IMHz, ¥ 13mA o s
FiE : BEEIERAVNE V. BIFIESK | Po(nk) 250 Crss(pF) 0.02 Vo15=Voes=-5Y, IMHz, % #Vps=10V
£y, Tch(°C) 135{ PG(dB) 11.50 14.00) 17.00] Ip=8mA, Voos=3V, 800MHz4 | #Vps=8V .
#61,62& 6, £ | NF(dB) 3.50]  4.50] [p=8ma, Voos=3V, 800MHz# v
®35K143 BT | Yos(V) 15[ loss(mA)| 0.20 13.00| Vps=10V, Vo15=0, Vors=4V | [pssX43+++3D0: o2 o
F& : UHF F 2 — 7 BRIBHEIER UHF | Vos(V)* 8| IYssl(mS)| 12.00| 20.00{ 28.00| Ip=10mA, Voos=4V, 1kHz, * | 0.2~1. 5mA, 3DP o -
TS ERESHER 1o(m4) 30| Ciss(pF)| 1.40{ 1.90| 2.40( Vo1s=Voos=—5V, IMHz, * :0. 5~4mA, 3DQ: - -
BE : BERHOINS V. BAFIESA | PolnW) 200| Crss(pF) 0.02 Vois=Voos=-5V, 1Mz, * | 3~13mA
&, Teh(°C) 150| PG(dB) | 13.00] 15.00 10=8n4, Voos=3V, 800MHz# | #Vps=10V D . S
61,624 %, = | NF(dB) 5.00| 1p=8ma, Voos=3V, 800MHz# | #Vps=8V
@®3SK144 T | vos(M) 15] Ipss(mA) 0. 80 15.00| Vos=10V, Vo1s=0, Voos=4V | lpssX43++-3EQ: - ol
R : VHF F 2 — 7 SRIEIEER. VIF | Vos(V)* 18] IYest(mS)| 17.00| 23.00 1p=10mA, Vops=4V, 1kHz, ¥ | 0.8~7m4, 3ER: 4
SRS IE, Io(ad) 30| CissGR) | 270 3,80 5.30] VorsVoss—5V, Mz ¥ | ~15m ’E—‘ﬂ
HE  HEIER N &V BAFHENK | Po(nk) 150| Crss(pF) 0.02 Va1s=Voos=-5V, 1MHz, * #Vpg=10V %ﬁﬂﬁj
W, Teh(°C) 150| PG(dB) 20.00] 23.00| 25.00| Vps=8V, 1p=8mA, Vops=3V# | #f=195~205Miz 0 s
#G1,62& %, + | NF(dB) 2000  3.20| Vos=8V, [p=8mA, Vaos=3V# | (Sweep)
®3SK146 HZ | Vos(V) 13| lpss(ma) 6.00] Vo1s=0, Voos=3V, # | pssfy¥Hr+0:0
R UIF TV Fa—F+SEHEE, ¢ | Vas(Mx 8| IYssl(mS) 16.00 Voos=3V, 1p=10mA, T=1kHz | ~2mA, Y:1~6nA
F4H, Ip(mA) 30 Ciss(pF)| 1.30] 1.80] 2.80] Voos=3V, p=10ma, f=1MHz | #Vps=6V 61 = G2
5 BEFS BN S, BETEN | Polmk) 150{ Crss(pF) 0.02{ 0.03| Vgzs=3V, [p=10mA, f=1MHz | #%{=800MHz, | p= s ol L
PEV, o Teh(*C) 125| PG(dB) 14.00| 17.50 Vps=6V, Voos=3V, #% 10mA
$61,62& &, + NF(dB) 2.60|  4.00| Vps=6Y, Voos=3V, %% =%y B
@®3SK151 B2 | osv) 15| lpss(mA) 3.00 14.00| Ve15=0, Voos=3V, * Ipsso%H-+Y:3
R M F 2 — 7 RS, VIF Vos(V)* 8| 1Yssl(nS) 27.00 Vo2s=3V, [p=10mA, f=1kliz | ~Tm4, GR:6~14
™ F 2 — 7 AEEEERA, VHFF | Io(n) 30| Ciss(pF) 2.70]  3.60| Vgos=3V, [p=10m4, f=1MHz | mA 61 = G2
SRR Po (m¥) 150| Crss(pF) 0.03]  0.04| Voos=3V, [p=10mA, f=1MHz | #Vps=6V s L)
ek TRRIBIE Y. BT, Teh(°C) 125 CG(dB) 21.00] 24.50 Vpp=10V, #x #4£5=200MHz, f1 —
*1,62& %, + NF(dB) 3.30]  5.50| Vpp=10V, #* =245MHz




